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ARl (BER 60NIWHIK) KIRNBERERE, BERRIVIF-REBRERREZEHFEA.

X5 ==L v RleBfi (FhA)
HERRE INETR 30A 1MBICDE 963.42H
ZWER 40A 1 ECO= 128456/
N 2B 50A 1hECO= 1,605.70H
HZ5T51 ZTER 60A 1 BICO= 1,926.84M
EHENE | 1~120kWhECT | LKWhicO= 21.20@
121~300kWh=T | 1kWh(CD= 25.67M
301kWhELE 1KWhicDO= 28.62M
X5 | ==YV Bl (BhA)
EARE 1HH - 1KVACO= 321.140
B55T5>2 [ BHERE | 1~120kWhECT | 1kWhico= 21.20M@
121~300kWhET | 1kWhcO= 25.67M
301kWhELE 1KWhicD= 28.62M
X5 ==2ivi RSBl (FBiA)
HEARE TEES) KW 1 BICO= 1.194.428
TYES) 4 kW 1 BCO= 1,592.56
BT 5 kW 1HBICO= 1,990.70M
BT 6 kW 1nBlCO= 2,388.84M
TR S kR >
BRI 52 2R LR | 1A 398.14F3
EHENS | I~120kWhECT | LKWhicO= 21.20M@
121~300kWhET| 1kWhlCO= 25.67M
301~500kWhE T | 1kWhlCDO= 28.62M8
501KWhELE 1KWhicD= 26.62M
X5 BH{i] RlEE il (FiA)
BEAXpE® LEFE 3kVA 1hBICDE 963.42H
DYRE 4KVA | LHBICO= 1,284.56M
DYEE S5KVA | LHBICO= 1,605.70M
555550075 DYEE 6KVA | LHBICO= 1,926.84M
TSR 7 KVARLE _
DEa ] WAL SZ| 1PACDE 321.14M9
EHENE | 1~500kWhEC | 1LkWhico= 25.77@
501kWhELE 1KWhicD= 26.62M
%1 1KVAICD=
BlE2 (15 B&EDORBIES LUATS 3> 60ALVHIR) %2 1kWICO=
B>5T5>1] 30A 40A 50A 60A  |B>BT5> 20
TS5 -B2 | HiISETS > 3 kW 4 kW 5 kW 6 kW B TS TKWBL | %2
555550075> |  3KVA 2 KVA 5KVA 6KVA | 350550075 T
TyRTI—oCE | A 42.90F| A 114.40M | A 178.75M| A 257.40M| A 42.900
22| BlT+Z] | A42.90M| A57.20M| A71.50F| A85.80M| A 14.30M
[ E>&E | A42.90Mm| A57.20M| A71.50M] A85.80M] A 14.30
ATE2 [T B LE A 42900 A57.20M| A71.50M| AS85.808| A 14.30M
(#iid) HEHE A 42901 A57.200| A71.50M| A 85.80M A 14.30
(0JU-ThE T175Z| 211.20M| 281.60M| 352.00M| 422.40M 70.408
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